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[[[Etiva SN K4 544> K| OUT | IN |GROSS|HDCP | NET |ckossii %
B S5 R 4, 000 44| 44]10.8 133.2 | 28
R VE K 720 3, 000 421 421 7.2 134.8 | 13

3 B i 2, 000 48] 48[13.2 [34.8 | 61

4 N FEsE 1, 000 40 400 6.0 [34.0 | 7 NP I N 10
=2 1, 000 411 411 6.0 [35.0 | 12

6 3K KBJIA 800 40 40! 4.8 [35.2 | 7

T A 5 800 40 40| 4.8 135.2 7

8 |GnEy BJH 800 46!  46]10.8 [35.2 | 49

9 |mA BT 1, 000 39]  39] 3.6 [35.4 | b5 [FFPIMERE
10 Vepk &% 1, 000 39 39/ 3.6 [35.4 ] 5

11 WTH A 45/ 45 9.6 [35.4 | 39

12 )l EhE 38 38/ 2.4 [35.6 | 4

13 bk B — 44 44] 8.4 135.6 | 28

14 |HI FBKE 44| 44] 8.4 |35.6 | 28

15 /K HEZ 500 37 37/ 1.2 [35.8 3

16 |SFIR iRk 43 43] 7.2 [35.8 | 19

17 Sl foE 43 43] 7.2 135.8 | 19

18 | F¥E 7L 43|  43] 7.2 135.8 | 19

19 P fE 49 49/13.2 [35.8 | 70

20 WM F— 500 36 36/ 0.0 [36.0 1 | ~"—748HOA, BGERL
21 AR G 36 36/ 0.0 [36.0 1

22 |BPE B 42 421 6.0 [36.0 | 13

23 |EF] Hir 1, 500 48] 48]12.0 136.0 | 61 |[BRMEEiAaE
24 | R 48] 48[12.0 [36.0 | 61

25 LRy =k 500 48 48112.0 [36.0 | 61

26 VAT A 40 40] 3.6 136.4 | 7 |INP OUT 8
27 |FlJEL 46!  46] 9.6 [36.4 | 49

28 bkt Fo A 46 46| 9.6 /36.4 | 49

29 |4 PUR 45/ 45] 8.4 [36.6 | 39

30 ML Rk 500 45! 45| 8.4 [36.6 | 39

31 Wk F=E 45 45/ 8.4 136.6 | 39

32 |HoAR =& 51 51/14.4 136.6 | 83

33 |JHEN 44 44| 7.2 136.8 | 28

34 | EA FEZ 44 441 7.2 136.8 | 28

35 |#nAK Fn= 300 44 44| 7.2 136.8 | 28

36 |HH & 44)  44] 7.2 136.8 | 28

37 _|HA B 50/  50/13.2 [36.8 | 75

38 ARl o/ 50 50/13.2 136.8 | 75

39 g HE 43 43] 6.0 137.0 | 19

40 JbAkS il 300 43 431 6.0 137.0 | 19

41 B F EHF 43 43| 6.0 [37.0 | 19

42 |t EKE 43 43] 6.0 [37.0 | 19

43 ik sE=— 43 43| 6.0 137.0 | 19

44 |\Hhim R 43 43| 6.0 [37.0 | 19

45 | RALR 300 49 49/12.0 [37.0 | 70

46 K2 = 49 49[12.0 [37.0 | 70

47 AW JAE 42 42] 4.8 137.2 | 13

48 B K 42]  42] 4.8 [37.2 | 13

49 HE sttt 47 471 9.6 137.4 | 57 [INP I N 14
50 |H= 22— 1, 500 46 46] 8.4 [37.6 | 49
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JEAE SN K4 fHHARA > K OUT | IN |GROSS|HDCP| NET |crossuit: S
51 ittt % 46/ 46| 8.4 137.6 | 49
52 |FHh A 46] 46 8.4 [37.6 | 49
53 |y RAE 45/ 45| 7.2 137.8 | 39
54 |[EB BER] 45 45] 7.2 137.8 | 39
55 AR HHOF 300 45/ 450 7.2 [37.8 | 39
56 | =B 45 45] 7.2 137.8 | 39
57 A W 45/ 45 7.2 137.8 | 39
58 |Hiky =245 51 51/13.2 [37.8 | 83
59 |HH 1= 51 51113.2 [37.8 | 83
60 JFH FFAT 300 44 44 6.0 138.0 | 28
61 | dbkf dt— 44 44 6.0 138.0 | 28
62 |FAEE JA— 44 44] 6.0 138.0 | 28
63 | UTRE HEAE 50 50/12.0 138.0 | 75
64 KR J# 50 50(12.0 [38.0 | 75
65 |Mpk i 300 55 55/16.8 [38.2 | 91
66 /MR ZEH 42 42] 3.6 138.4 | 13
67 | BRI SRR 48 48/ 9.6 [38.4 | 61
68 | AH B— 48 48] 9.6 [38.4 | 61
69 AR RS 47 47| 8.4 138.6 | 57
70 _IEK FE 300 47 47] 8.4 [38.6 | 57
71 METH Y A7) 47] 8.4 138.6 | 57
72 AR &k 40 40| 1.2 138.8 7
73 HW e 45]  45[ 6.0 [39.0 | 39
T4 TR JEDUAR 44 44] 4.8 [39.2 | 28
75 | EE T 300 50/  50[10.8 [39.2 | 75
6 AR fE 50 50/10.8 [39.2 | 75
77 e S 49 49] 9.6 139.4 | 70
78 Bl Bk 55 55/15.6 [39.4 | 91
79 =W ERT 42 42] 2.4 139.6 | 13
80 |PHYE K — 300 48 48]/ 8.4 139.6 | 61 [NP OUT 3
81 |B)E & 48] 48] 8.4 139.6 | 61
82 |z BT 48 48| 8.4 [39.6 | 61
83 ArdE Skt3E 53 53/13.2 139.8 | 86
84 |HAT MUk 53]  53[13.2 [39.8 | 86
85 | kAMA U F] 300 46 46 6.0 140.0 | 49
86 i)l WL 46 46] 6.0 140.0 | 49
87 A48 M 60/  60/20.0 [40.0 | 94
88 AR B— 60/  60[20.0 [40.0 | 94
89 [P B 50 50| 9.6 [40.4 | 75
90 /MK 5F 300 50 50/ 9.6 [40.4 | 75
91 [ AuH UG 56/ 56/15.6 [40.4 | 93
92 |HH &k 54 54/13.2 [40.8 | 89
93 {Fik (5= 53 53[12.0 141.0 | 86
94 EifE (ER 800 49 49| 7.2 [41.8 | 70 |IBBHE
9 |HH % 54 54/12.0 [42.0 | 89
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